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CBT Sample assessment model answers

Processing bookkeeping transactions (PBKT)

Sample assessment 1

Task 1
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Task 2
[image: image3.jpg](a) What will be the entries in the sales ledger?

Sales ledger

Amount

Account name. f

Debit

[Wem Designs

[Bailey and Byng

(b) What will be the entries in the general ledger?

General ledger

Amount
£

Account name. Debit  Credit

[Sales ledger control

[Sales retums

VAT





Task 3
[image: image4.jpg](a) Enter the details from the cash purchases listing and the trade payables listing into the credit side of
the cash-book shown below and total each colum.

Cash book - credit side.

=
[Balance bif 2312

‘The debit side of the cash-book shows the cash balance broughtforward atthe beginning of the week was
£200 and a further £319 has been received during the week.

{b) Using your answer to (a) above, calculate the cash balance.

£ i

The debit side of the cash-book shows the total amount of money banked during the week was £1,964.

(c) Using your answer to (a) above, calculate the bank balance. If your calculations show that the bank
‘account is overdrawn, your answer should start with a minus sign, for example 123

£ 3024





Task 4
[image: image5.jpg](a) What will be the FOUR entries in the general ledger?

General ledger

Amount

Account name 5

Debit  Credit

[Purchases ledger conrol

[Cash purchases
VAT

[Bank charges

One of the bank payments to trade payables was to D B Franks for £264.

(b) What will be the entry in the purchases ledger?

Purchases ledger

Amount

Account name 7

Debit  Credit





Task 5
[image: image6.jpg](a) Enter the above transactions into the partially completed petty cash-book belov.

(b) Total the petty cash-book and show the balance carried down.

Petty cash-book
Travel Office
Do | et Details Aot expenses  expenses
3 3
lBalance o | 120.00|pens 30.00 30.00
[Fraim fare 5 3705, 3705
Envelopes - 246 o 205
Barance d 5 2835
otal 120.00[otals 720 “ 3705 505|

(c) What will be the THREE accounts in the general ledger which will record the above transactions?

General ledger accounts

Envelopes

Offce expenses

Petty cash-book

Petty cash control

Train fare





Task 5, continued
[image: image7.jpg](d) Whatis the amount of cash that would have been withdrawn from the bank to restore the imprest
level?

9165





[image: image8.jpg]() Does the amount of cash in the petty cash box reconcile with the balance in the petty cash-book?

No, there is not enough cash in the petty cash box.

No, there is too much cash inthe petty cash box.

Each petty cash claim is accompanied by a petty cash voucher.

() Select TWO details that should be shown on the petty cash voucher.

Name of Managing Director

Signature of claimant

Balance of cash in petty cash box

Balance bid n petty cash-book

Amount of cash being claimed

Amount of imprest level





Task 6
[image: image9.jpg]Trial balance as at 30 June

P Amount Debit oo
Hiscellaneous expenses 2115 2116
Bank interest received 199 199
Bank interest paid 342 342
Petty cash control 75 75
Offce expenses 3793) 3793
Wotor expenses .11g] 18
Loan from bank 15,000] 15000
Rentand rates 3,000] 3000
Wotor vehicles. 37,650) 37650
Sales 198,575] 198575
Purchases retums 875 a75
Sales ledger control 128331 128331
Bank overaraft 2,248 2246
Furchases ledger control 55231 55231
VAT owing to HM Revenue and Customs 4.289) 4289|
Wages 37,459) 37466
Purchases 88,172] 8172
Capital 25748 25748]
Totals 302163 302163





Task 7
[image: image10.jpg](a) Complete the table below by:

inserting the total of transactions with Judson Ltd in each of the months April, May and June
- showing the dates by which payments should be made by clicking on the relevant dates.

You can remove your selection by clicking on the date again.

Worth = ey
Transacions nAp 2475 |30t 31 ey 30June 31ty 31 August
[—— 5537 |s0Rert 31May 30 June 31y 31 August

Transactions in June 290 | 30 April 31May 30June 31July 31 August





[image: image11.jpg](b) Using the data in (a) show what TWO items are missing from the statement of account by clicking on
the relevant items. You can remove your selections by clicking on the items again.

Invoice 1338 Invoice J345  Invoice 401 Invoice J478  Invoice J501

CreditC025 Creditnote C033  Creditnote C040  Cheque





Task 7, continued

[image: image12.jpg]{c) Check the delivery note and the invoice and answer the following questions.

Questions Yes No

Has the correct net price been calculated?

Has the correct product been delivered?

-

Has the correct discount been applied?

(d) What will be the correct amounts of the invoice?

Netamount  VATamount Gross amount

£ £ £

250 45| 298|





Task 8
[image: image13.jpg](a) Show what document the customer should have included with the cheque by clicking on one.
document name. You can remove your selection by clicking again.

Deliverynote ety cash voucher Purchase order Remitiance advce note





[image: image14.jpg](b) Complete the following statement.

[The cheque from B Cahen for £1,512 has resulted in an [underpayment Jd
[This probaby relates to [sales invoice 301

i order to resolve the problem Gold should [request another cheque  JRd

[from B Cohen for &

hich will clear the outstanding balance.





Task 8, continued

[image: image15.jpg](c) Complete the TEN boxes in the sales invoice below.

Date: [11July 20K

To: BCohen

Ravenscourt Road
Darton, DF15 0MX

Gold
14 High Street, Darton, DF11 46X

SALES INVOICE 427

Customer account code: [COH007
Purchase order No: [BCO1157

Total amount

Quantity Product Price each VAT Total
of units code B Smarecone £ £
550 BX28 16 8096 157872 967472

Terms: [2.6% sefflement discount for payment within 10 days,






Task 9
[image: image16.jpg]J B Mills

1dun_[Balance bf 1585] 22Jun__[Bank 678
1dun_Jinvoice 1269 1804] 20 Jun__[Creaitnote 049 607
[300un_"=|Balance 2104
Total 3380 Total 3389

[Toul [Batance bid 2104





[image: image17.jpg]'STATEMENT OF ACCOUNT

G0l
o S T8HGh SHoeL Daton DF14GX.

Date 20 Detais of ndividual transactions OVtS12ning amount
o14une Opening balance 7
p— invoice 12691804 poe
22 June Cheque - £678 g
Soiwns (Creditnote 049 -£607 o





Task 10
[image: image18.jpg](a) Show the accounting equation on 1 July by inserting the appropriate figures.

Liabilies Capital

£ £

35720 10000 25720





[image: image19.jpg](b) Show the accounting equation on 8 July by inserting the appropriate figures.

Liabilies. Capital

£ £

43463 11270 32193





Task 10, continued

[image: image20.jpg](c) Show whether the transactions of J Gems are classified as capital income, revenue income, capital
‘expenditure or revenue expenditure by clicking on each left hand box and then on the appropriate
right hand box. You can remove aline by clicking on it

Transactions Income/Expenditure

Received cash for goods sold

Purchased a motor vehicle for cash Capital income

Purchased goods for resale for
cash

Revenue income

Purchased goods for resale on
credit

Capital expenditure

Received a cheque from a trade
receivable

Revenue expenditure

Received cash from owner





Task 10, continued

[image: image21.jpg](d)Is the purchases day-book part of the double entry bookkeeping system?

Yes

- |





[image: image22.jpg]{e) Insert the relevant account code in the coding list below for each of the two new customers.

Customer Customer
name account code
Avion Lta Ao
Blakely plc BLADY
Brandon and Co BRAO2|
Fellows Designs FELOY
Nailer and Co [
WBJ Lta B0
Patel Products PATO1
Pound plc POUOZ
Pickford Ltd PICo3|
Portman and Co PORO4|
TIKLtg TIKO1
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